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INSTRUCTION



3BepHiTb yBary! Pay attention!

1. LLlo6 pictaTi geTani 3 NnaHLWeTKM BUKOPUCTOBYMTE 1. Use the auxillary element to get the parts from A4 (x2)
[OMOMDKHUI €NEMEHT. the tablet. i T

2. [leAki eneMeHTV Nasny MoxyTb 3'€AHyBaTUCA 2. Some parts of the puzzle can be connected with force. = c

I3 3yennnam. 3. If the element Is connected with difficulty or does not

3. AKLWo enemMeHT 3'egHYETbCA i3 3ycnnnam abo fit into the groove of another part, then you need to use

He BXOOMTb B Ma3 iHLWOi AeTani, To NoTpibHO the nail file.

CKOPUCTATMCA NNOYKOLO. 4, If the part is too loose when connected, does not hold

4. AKLLO AeTanb NP 3'€dHaAHHI 3aHAATO BiNbHO in the grooves of the constructor, then it is better |]
TPUMaETbCa to additionally use glue

B Masax KOHCTPYKTOpPa, TOAI Kpallle 40AaTKOBO

. 5. If you see parts marked with a number in parentheses,
BMKOPUCTaTUN KNen.

they are spare.

5. 3anacHi geTtani no3Ha4yeHi HOMePOM B Ay»XKKaxX. 6. Be careful and take your time

6. byabTe yBaXkHMMU, Ta He mocnillanTe.

@ _ HoMmep nnaHLweTKM 3 HeOBXiAHMMY AeTanamu.

Tablet number with the necessary parts. @ — MocninosHicTe Aiit. Sequence of actions.

@ _ 3MacTiTb fleTanb NapadiHoM.
Wax the part with paraffin.
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Mepe6byBac y BiNbHOMY CTaHi E-J; Remains loose until

.0 MOBHOIO CKNaAaHHsA Kopnycy ! the enclosure is fully assembled
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3y604ncTKa (9 MM)
toothpick (9 mm)

A27

A28 (x6)

MoepHaTu ABi BeNUKi YacTUHU
nepepn HacTyNHUMM KPpoKaMu

Combine the two large parts
before the next steps
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See-through view
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G2-1

A56 351erka HaTUCHYTU Ha KHOMKY Bif'€AHaHHA
MarasuHy A9 NIerworo BCTaHOBNEHHSA MarasnHy

— Press the magazine release button lightly for
:| :| easier magazine installation
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Mip Yyac BcTaHOBNEHHS
notarHyTu E17 Bropy

Pull E17 upward during
installation
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